
qril ytl'(l qtl t rEI 6r fu = 4 ffifro/gtrzl delr qm EI arr = , f€fro/q!-er
1. (, qRr 61 t<fl t rFr iFr +r ( sq9-Et6) : (a + ,) ffio/q!-ar.

(r,) qRr 61 tdTfl-d f<fl d rrq q;r tq (sde-qTE) : (a - ,) ffi.,qu-er
2. qR qm ql fE{[ i crs s,r arr : x tdFrfio,qo-sr

ntn qr{I st frTfrd Rvn fr q 6.t i,r = r mo/q0-zl

s, YIr< q€ c rrs fl qr = -1 1r+ y) ffiorq!-er,
- I 2'

qRI 6I drt = _ tx _y) ffi.,qra.

qrqr*lftqq

qrler-dTilf{ur

cSr 1. q6 t{r€ a1 qra erm +1 fSvn { ro ffio qft qrrdr t aqr qm *. fecq 6 frrfro ufr
qu-a t erm qr *{T iET v[<r Era { +{F6 *1 qra ffi qltqq.

EEr : qRI +1 ftsTr t qrtl : l0 fsfro/Era.
qRI +'fr86 srd : 6 ffiorquer.

-l
rrRI iFr qq =_(10_6) f*.fio,aCuA _ 2 ffio/SqA.

{n<Edtfu;+1aro =}oo+ot ffiorquer = 8 ffio/q!-er.

IFr 2. q.6 1186 eIr{I * frr?a r S ffi o qrm t nqr qm qft fqT[ { Zs fo6o q161 g. s+ rr+fi
svn t squ)drr+t qm 6,r *{ asr yr< va d rlt+o qt qra an etFqq.

Ea: qmql f<vn tETe =+ ffi",qua = s ffi.rqo-a.
5

wr+ fu€-aqre =9 mi.,r*=, ffiorqo-a.
5

.I
qRI iFI qrt = _ t5 _ j) ffio/gcet = t fiEfro,nlu-at..
yll-< qd q rTF{fi 61q-6 =115+3r ffiorqo-zt: + ffiorq!-at.

cfrr 3. qfi nrfus' 4,ryflRT Era t tq 6 ffio cfr qu-.I t irqr qmmtrr z F*.fro vft qrert
rft d crfrq. qi errr ,4 t rinr B ilfi. qr+ am qrfts z rtr g{r+ t E;-a I qot ro fu.raaqtt Efr/rffia1&q.

Ea: qrir 61f<sn i t r = (e + U) tflfi.7qtrgr: s fs.lfte/q!-ar.
trRr + ffid trr : (6 _ 2) ffi.qo-a : 4 ffi67qo-s1
clitqfrlB =xfs-fro. q
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' +* =9 = r+2r=36=3x=36= x=12.
842
elfreqfr - tz ffi".

cf{ 4. Ylr<qfiq-qfi rIEt 13 iif,to rfrqrelqtqrf,tqrfrtasr qRT E,r ilr I ffi" cft
suer t qm + ert*E{ 6s ffio qfr rqq"ri t gt fr-m vm afur ?

Fl : qr,{r h 3]IFFCI rrs 41qrf, = (13 + 4) fifi'fro/tlo-a = t7 ffiorqrcl'
qr{I+{{tc68ffi5 qI|fr6rnqqq =ff "t-+"+.

rFr s. q6 qrq eIRt qt fqvn { ro ffio qfr z uut rofu+a{mqrfrtaq elm*ffid
girfrEftmalitgt r uut ls fu+aarrit en<rqr&tgntHiuq.

fa : qm o1t<flI t qrE sl fu = -!!- 64"qo71 : 12 ffio/q!-a.
(5 /2)

trm }' ffic tq +T ar = -+^ ft'fr.rsu-a = 9}! f+fionlu:zt : 8 ffi',qo-a.(l5t4) 15

tmqTiq = LttZ-S) ft5fro^Io-eT =2 ffi.qua.
2'

yya 5. q6rfrif umq, *q z ffioztrrart Fd \14' +.rqte offio qm *'ffit qr+"r

aeernfuroegq{33fi ffetcf{fr tqtatqteolvn<qadqraffi t?
16; ql{t {-4 frz +1vn-< qe i qre : r ffio/qu-zT.

n-e, qr{r 61 ftflr i ct.{ dl" 61 qrf, = G + 2) ftE'frorwo-et.

nql, sr{r + frcfi-d fr& iz *1 qre : (, - z) ffi'rqra
. 6 ,6 =33 - 

I - I -ll" (r+2) (r-2) 60 lx+2) (x-21 120

=(x-21+k+2\ = .1,1, + 240x =ll(x2 -4)
tx +2) (x -2) 120

.'. 11x2 -24ox- 44 =0 + llx2 -242x+2x-44=0

= llx (x-22) + 2 (x -22) =0 = (x -22) (l1x+2) = 0 + x =22'

. . i-< *e +1 vrm qa t qro : zz ffi'su-a.

fiqFdneaw+ t t r*a d #o s-f,{d f{diFail ( / ) dfuq :

1. q6 irs trRI +t fr$r q 24 ffi . <ft 4 sd t ilq 6.rfi t nql qm & ffio rcfi 6 Eft rq 4-{i

t o qA i-fi t. rr< qe t nq al qm ffi t ? ( +6 fro*o qftqlr, 2006 )

(a) 3.5 ffiorqo'a (D) 5.5ffiorqua (c) 6 ffi'7qo-a 1a) efi-oB emtw

t"l r+i tdrilt{
2. G irq qRI E1 f<{n C e ffio qfr I ElZ t n-q fifi t nqr qr<r * ffi( z ffi " 

qfr t uA t
nq 6afr t. qRr 6r +'r fril{ t ? ( qrro!5To*o qtqn, 2oos )

(a) 2 ffi.rqra (6) 3 ffiore!-Jl (c) 4 td'fro,alua (4 S fo6"^*
,. q-+. nfu+- qrrfi WR{ 5fu€d t ffi" +1rrfr t n?n qmhffid r sot { offi" 61'Ifr

t cra G-dr t. q1r 6r Arr fril{r t ? ( qqoq€ofro qfr{r, 2o1o )

(a) 6 f.FfroAua (6) l0 f+fr"rqua (c) 3 ffiorvrra (fl 12 f6fio7uua
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4. qar rrs qm q1 ffid t<flr d +s fu+z t rz mo +1 Efr a-l +rfi t. qft qm q1 ,rfr
z f+fr.,qo-a d, rit vn< qe t cH al rrfd fs?rfl ftfr ?

(a) 17 l6*o^Io-ar (r) 15 f6fio/.qu-a (c) t 3 ffiorqo-a (d) 2.25 ffi.Zw-a
s. CqF qta ste E-6rs d f<flr { q ffi. +1 qfr n-< E'.ri t z vA tfi t acr {6rs u1 ffid f({r {

+d qfr n-+ +.d { o s"} A-fr t. ftpR crfi g -1ta 61 qre fs-d+ t z ( to*oqso qfrwr, zo I o )
(a) 3 ffiorqra (r) 2 ffrfro/q!-a (c) 1.5 ffi",qo-a (4 r ffiozqo-zr

6. q6, srKfr srRr + ffid ts fu{a i fi-r-+d f+rt{-a qrq d v6F-dr t atn vd $ +i erfre
a-qo-ri { si 10fu{edrilt sn+1vn< qe t qre 6.r qfir61qldt qr.qvntz
(a)3:5 (b) s:3 (c) l:5 (d) stt

z. +ti d-a qta vn< q€{ i 36 fr{o/co-.. *1 qm t +efr t. * fo\'ffii#i #:l
fui-a t so ffi. qfr t. i-f,fr A $ +i q1r + eqte irc s.d t gfr fffia1 qqq dtfl ?
(a) 2 E{ot 2s fu{. (6) 3 qlt ic; r ura z+ fura (4 2 so} 21 ft-{e

s. ffi *e{ dE 61 sn< qn d qrd 45 ffi o/sra t. qR rIRr * .ffiH: #;t*t +c{ E}e 1 quzr 20 fr{. Er q{q A il i-d-fi 6 Et trm t ffio Rsn t rq q.d t'w f*-c<rqqqtfi? (qroqeorfro qftfi, zOoe )
(a) 3 vot 1a) r vo-a zo fr+a 1cy : uot ao fu+a (d) 2 se ss ft-f,.

9. ffi srm + e-qr6 61qrd 4 Gfro,q!-a t qF, ils qm*y-cr6fiyiil{E 6 f6S. qr6-{ Erqi
vt-d qrd rrm cr z qo) { +. srrfr t. rrq s1 qm + e-Er6 + fatq vri { ern vm f+-o-n fr ?

(4) 1 Er'-zT (b) l+ so-d ,n ,1 * ra r 
l- 

vra

r0. sn rfr sr x-sr6 2 ffi o ffi qo-er |. qn qrft d r{ r *rt * ffim*T H
dt t g5r {qq d.rdr t. qk q1 fun se { di +1 < qr t ?

(a) 6 f6fro/qo-4 (r) 4 frqlo/s!-Er (c) ro f+'frozqq-a (a) e ffi./qu-a
( *+r*qrftmqfrqr, zooo )tt. qs. +fir 3rJe-Erd 61 f<fl I qf,t gS 3O ffio qt Efr Z qqt t rq ocfr t qqifr qrfuq o1i qqq

fr*l +i +dEftr< +lit owtaqqrilt. qR rqrc+1rfr, +nr+1rfrt eTr$A, dyq
+dr +1 .Tft ffif t ? 1fr6 froeilo vfrgr, zooe )
(a) ts fdfronru-a (D) s ffiorqo-a (c) 10 ffionua (d dc r-fi 6.{ v6t
C)ltqt+tTd

12. q6 qFft t f+'fr" +1 (fr +i qm +1 Gvn { l0 fr{z q ilfl trm } ffir f<vn t 30 fq{e { rq
ocflt qRrqi.rRfqrilntz ( qso\qo.rfro qftqr, zoro)
(a) I ffiorqra (r) 2 frrfrono-zr (c) q t+frorqo-a (d 3 F6-fro/sEer

r. eqr*e vrfi g{ fr+ 'il-or zo ffi. +1 Eft z vut { re orfi t nefl sEdq-qr6 Td qfr s vA {
n-q q'rfi t. fq{ crfr t ++l +1 rfr f+'mfl t ? ( qqoqsofro qQr, 2ooe )
(a) 7 ffi"rqo-a (r) 8 ffirfr.iq!-cr (c) 9 ffiorqrJl (4 rO ffiorq!-zl

14. q+' qtfi Tfi t a8 ffio qfr 66 qi nqr qrfrs s{i t 14 qu} 61 qqq +dr t. qf< qt qnr +1
6*glq61qqqd 4ffio qrf,rtsdi6qqqt qnr+'ffia: ffio qrar t. qrtlB1?ft
ffit? ( qco*oqo qtryr, 2oos )
(a) 1 t+-fro,qu21 (6) r.s ffiorqsa (c) r.8 f+qlo/qsa (4 3.s Fd.*./sE r



15. qfi rfr i trRr 6r fu 1 ffio/s!-el t. q.jE' t-e{ +e qRI + ffid 35 ffi. q6r eRtrr6 t4-q
qr ilfrs s{rt C 12 qot t-fr t. {r< s€ t qta *e qr fu f+o-+ t ?

(a) 5 ffioreua (6) 7 t6fr./q!-cl (c) 8 ffi.,q0-a (4 s ffi'/Elra
(+6*crfmqfrqn, 2oo3 )

16. q.5 iFI qm b ffid 30 ffi o nqt qK 6,1 RflI d 44 ffi" qfr m a<i d l0 sQ A-fr t. Tet

ffq g.S qrd t rmhffidaoffio aqr qm;fiRflIt ssffio Rfr a-q ori i l: q,t t-fr
t. vn< qe i ils 61 qr€ f{"f,fi t ?

(a) 3 fufro/tluzt (6) 8 fd'fro,vo-a (c) 11 f"5'fionro-zt (d1 tz ffiorvra

17. (iE rFt crRT 41 tffi i 3;-s (0 t so? t ilq 6'rfi t flI trRI u1 ffid ffln d ad Et r ] ue
d rq qcfr t. qR qT{ 6r fu 3 ffi./qua A A {n< sd i cH 6I trr Hr d'n ? -

(a) r2 t5fro/qo-a (D) ra ffi.rqu-er (c) ra ffiorqs-zt (@ rs fisdo/eret

<el Ecd t 6ti r-et ( dq, qtoerl" qtqn, zooa )
I

18. rrr< lrl d q$ rH 61 qld , t f"*. cFd slra t. qRI 61 f({Ir t qm ffic qfr ra a<i t et
pq6a qqq ffi ft, qnr + ffid s-d-fr d qfr r< orl C at *rA fduil €qq Afr t. qRr or Aq

ffiil{r t ?

1,y 11 66.7qo-a (r) 3; ffi./s'cr G) 4? ffi"/su'a (al 4; ffi:,'s,a
rq. q+, iitrsil qfr rq qG d G rrs unr * erjtc vrtr t, um * rfue vri fr faq 'rt qcc t

er$r {qc a-fr t. fun qe t qrq +1 qre ilI qrrt }' irr ql er{crd t6-d-{r t ?

(a)Z:r (b)3:1 (c)r:2 ,4,,?tA**,roo.,

zo. q+' rrq ffi (ft +1 qm +1 ffia f<m i e sQ +t frTr C rq 6tfi t ner qrr 61 f<{n t 5q

Et +1 + uQ i m +rfr t. vn< qe i nq *l srd nqr qRI *' trr i6T e1v9 wt.t ]
(a)Z:l (b) 3:2 (c) 8:3 14 uwt< eti6.B

i"jrA t ++ -A ( {q, fr"s{to qtst, zooe )
zr. qi trm {r< q-d t s ffi.so-a al qre t tr s+ar t. qR qRr or tr t t+*'/sra d fi ge

trm 61 q+, sn t qd tun a-+ vri aw rntrrr fq-< il+, qrfrs er| d 1 qra 6rrdr {. {6 elri
ynpa6 6g t ffi Et t u ( qqoqqo*o qfrqll, 2oo4 )
(a) 2.4 ffio (b) 2.5 f6'fr. (c) 3 ffio (d) 3.6 t.Efro' | *. g 3- 1+fr. <t rq qra t aqr {6i t qfrq 7+ firz i'22. qatrro qm*Ht-s tt; i 4 - 2

,RFar6 t{< ci €s qrm t. rr< qo C trm 61 q6 ffi t ? 1 tffizvtgt, zoos )

(a) 2 td'fro/Erzr (r) 3 ftEfro/rllzl (c) +ffi.re!-a (4 s ffi.rqozt

24
r. trmolf<sn dilq d* =? ffi.rqo-a - O ffiozqo-a.

24qi(I+fr€'6rrqql Eltl = --= fd'fro/Tlo-aT : 4 f"6-fio/tlo-at.
6

1

YFFITFTT 19AH.rcq[tra.Ed

YII< q€t rrs +1srd
2

(6+ 4) ffiorw-a: 5 ffio7qu-gT.
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2, tlrn Bl f<en i Tq +1qr€ : 8 t6-+o/su€r.
w(I +'fuad rH ql qtl : 2 t6fio/Eo-.r.

!
qRI i5rqq =;(8-2) f*'frorqua:3 ffiorqo'a.

3. qRr+3c-f<{r;otqm =[], 
\

- t, <60f ffi.7qo-a = 12 fiEfro,qlzl.

qRI iE. rqc{rd rrs 6'I qro = e iqmorqozr.

qRr 6r trr = ) rrz - ul ffi.uqca : 3 ffionuzr.

4. rrRr 61 f{'ffiil fffrr i crq sl qd = (*, * 
) 

ffiosuar : 15 ffi orqo-a

qHr Yn< qd t rrE +1 qre : x ffiorguzt.
qm +1rIfr: Z ffioiqua.
.'. x-2=15 + x =17.
srd. {r< qtr t rrE ?[1 qre : lz ffio/qEcr.

AIqZTs. q6rea1fflr{+e(*aalqro =2 66.
2

1:-<,1
2

q6rs+ffid+e(*a+1qre =? *.r"* =i *"r*-".
f€R lrfr q q)-( +a 

" =* = i (i.i ) 
to*.n'a : : t+at"ma

o. qm S ffi* ttro 
"f 

*. = l].lrur) ftfi.,r* -, ffio/euar(4 rs )
qm +1 fsn d +{16 *t =* = (j,*,r)
3rn€ srlcd =+ (;.,) i (;-,)= f ,

ffiosua =i *.ru*

z. vna qe i qla qta al q6 = 36 ffio7qqL
qr;n q111 fi irr =r FS.fr./SuA.

qrr + ffid qtar *a 
" 

* = [# ] ffi o^rueT = 
f Y I ffi ore'-zr = :z 64o/q!-er

:. 36- x =32 = x=rso-:z)=i. '
qo: qmfifu:4ffiorq!-el
qm t er3te so ffi. qri tt ern qqq = -.jq= "A(36+ 4)

56=_ qEe = qo) : 1 qo-s1 24 funs.

s. {r< qd { tE{ a= at 
=m = +s t+qt.#l

qmqt{Ii5Itq:xffiorqEa

tm s er6e t r =(#; **"*" = ry ffioTqo-s1 : 66 ffio7q!-cT.

... 45+r = 60 + r = 15. efd: qRf ?FI fu : 15 ffio/$rd.
qro + fsqn-d +r = (45 - 15) F6rft./q!-a : 30 ffiouq'a.

rm + farn-f, 80 ffio 6q 6qi { Err s{q = fr *t = f re = z u"t oo n**

1
5



9. qffl {r< qd t wd : , ffio/qEJr. q

6 * 6 =2=61--1 *'l=,(r-4) (r+4) [(;r-4t (r+4)]

(r+4)+(r-4)
=2 =l - r' -16 = 6*

:. t2 -6r-16 =O = x2 -8x+2x -16 = 0 =;r(x- 8) + 2(,r-8) = 0

(r-8)(r+2)=0=r=8
.. g1r<qf,diq=8ffiosra.
qRr+sff{darl:(8 a) ffi"re!-.I = + ffio/s!-.[
gTfre qrrq =9 qot =] qot = rl q.a.

422
16. q5a fon qq d di +1 E{ :, f6fr.7vua avr qfr :y ffi.. a-q

v 2v I 2

(x-2) (x+2) (x-2) (x+2)

=2x-4=x+2=x=6.
.-. fun va i di o1 <r : 6 ffio,qret.

lt. q11rtfrr61rrfr:rffio7quer. ilq. rHr6 61rfr =i *.^*.
.l=rrqrtrrfr =|,,*l) ffiorura =* f+4"^*

[ 2] 2

^ 30^^qra r1n+n rrta = | t+q1.ru* -- t5 fq'frorqra.
_z

... I=15=3x=30=-r=10.
2

. . +6r dr qfu - to fqrit.,qra.

(r -a) (x +4) 6 3

12. Er{I 41f<sfl C rrfil = lx6o
10

ffi.rqqa:6ffiofqra

qnr t tccfrd f<Yn t rfr = lx oo
30

ffi.rqra:zffi.,qo-a

qTn +^i ,rfd = 1 (6 -2) ffi.,eua : Z ffi"rqr.r.

=20
2

13. qRr dt ft{r i'+frr 61 rIfr ffi.,qra: lO mo/qra
20qm + ffid +fir qi' Itd = - ffio/qua - 4 fq-frorqua.

I

fuR crfi c- ir6r 4i rrfr -:(10+4) ffi.rq!-e] - Z ffi.,q!-a1.
)

r+. qHI sg qtff 61 Yn<l Etl t src = , ffiorqua rqr qRr 61rltd : v ffi'/qua

.'. 48 * 4E =t4 ...(,
x+Y x-Y

(eII 4 =- 3 
-4r-4y=3x+3y=x=7y ...(rr)

(r + ,1,) (r - /)
48 48lrrix-7Y{qiqt;f 1-=146v oy
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6R+-+-=14-14y=14= y =l-yy
.. rrqr d rft = I fs.tro4ro-ar.

15. qHI Vln qf, if qt< *a m tq = r ffio/EuzT.
qRr qi ftfl t iq = (x + t) f;E-frorqEa, qRr + ffid trr = (r - l) ffi"/q!zT.
,. 35 * 35 

= rz= | + | 
=12(-r+l) (-r-1) (x-t) (x+t) 35

(r+l+ir-l) 12 -
=+ ---=- =l2x'-12=7r}r(r'-l) 35

= 6x2 -35x-6= 0 + 6x2 -36x+x-6=0
= 6r(.r-6) + (x-6) = 0 + (x-6) (6r+1) = 0 = x = 6.

. - IIrd q€ d q}c( +e 61 fu : 6 ffio7qu7L
rO. qr{r qRr *- ffi( nH 61qrd =.r rs-fro/guaT dqT qm 61fffi { qd 

= v td:fro/sqeT_
30 44ifd,:+:=10xy (,) inn 19*!1=rs

xy ...(,,

(,4 *) 4 t d?r (, sl s t lqr q{* qari qr :

160 150
=Z=9=Z+2r=10+ r=5.

44(,)ir:srci 4 = 4y = (! 1 y =11q{ 
-=v

{rlil qq t nrE +1 qlCI = (5+11) ffioreua = t ffiorqo-zt
2

17. q61 1116 qq { :nq ;nr trr = I f6.fio/rto-gt. iFt,
qRr +1 ftfl { crs 6r trr = (r + f) f6dl./qo-cr.
qr(I *- ffid ?rq 6r fu : (r - 3) ffio/so-cr.

1
.'. (r+3)x | = (x -3\x.1+ 2x + 6= 3r -9 =+ x = l5

3kt: ytkl qtl q iFI 6,r +rr : 15 t6'fr./qqer.
18. qt;tl qRI iEI fu = y ffio/rlucT.

qroqirffiia,r =[?.,)
qm+ffidarr =[?-,)

icl!-elffi

tin'ffolqua.

3
28 28

-+r33
.)=[ \s6 14 2l=-+x=-=4-.

)3 3 3
28-?!

3

srd: qr{I 6r fu = 42
3

fr;doEs-cL

19. qril qr{ + q:fF(I rrs 61 rrFd = x fd-tro/sua.

ilE, rrRr*'ErtdrHd* =; f+do,qqzr

1
2

wqqqdlrqfrqrd =
xx+-

.2 )*.r"* =t frfr"rqo-a.



::rra:giii :rildr$iiiifi

tlm :FI tq =
r^ ^]t6'rf o/EIUZI = - ltE'gTo^Iuel.
4

29. qr{r {r< ii-dd rrq +1 qrd = .r tiEfioAIuEI iFII tIRI 6,I tq : y ffio/guat
qRI 61 R{[ d rrq 41 qe : G + y) f;fi'fio^Io-zl.
qro +ffi( ilq 41q1q = (1-y) ffifroAlo-dl.

1t
(x+ y\x4=(x- y)xl + 20x+20y = 44x-44y + 24r= 64y = ' =y =9.'" 5 y243
.. elrfre qJcrd: t::.

21. tII(I +1fr{n C t{r6 +1qre : (s + l) fd-{oF[t-zl : 6 f+fro/tto-d.
tll{ + ffid t(r6, 61 qrl : (5 - l) frfro/tTuzr : 4 t6fro,€o-4,
qm elfre<fr:,ffio. ffi
1 + ! = | = Zx + 3x = 12 + 5x =12 = x = 2. 4.64
erd' q$eqfr = Z'+ffio.

22. qm +f{r-6 t{r6 +1qm =|/1r1roo) fofr"rqra = 4 ffionua.
[4 4s )

rrr( 61f<flr t +{16 +t qm = []r2rool frql"no-a = o fofiorsua
\4 15 )

Ylr< qd t +{r.6'61aro =}t++ol ffiorqua = s ffio/qu-at

1. S6Tfrt qr{r6rfu+ffioreuat. qs' ilq qs' frk{d td< t qm *'ffic effi" qfr rq
ql* qfrq sS fq-< rR 2 sot d c€? qrfr t. lrq qr vn< qe { t r nrd dfqq nefl qRI * tcsfl-d
qri d qqq fld dfqq. ( qqoqso{o qfrqn, 2sse I

z. T{ d q*' qfn ffi f{tr{d f{< t tmr + ffid dffio tfr n-q E-{+' srfrs rS fu€ il+'

s qlt rs ft-{c t q6q q-il t. T6 $rRr + ffid 2dffi. +1qfr z qA t ft e-6-dr t. Tfi za

ffi. (fr * 6 qs fr aq ani d st f+atr qtrq dilrn 2 1qq"q€o*o qfrqll, 2oo4 )

3. qfr dq( qr(+ffi< zoffio til<q qTii sc-+d qlrqt-drt f{d{f6'T6 qRI +1fq{lT t
so ffio qfr aq s{i t A-dr t. qf( qRI 6r fu 3 m6/q!-a d, fr {r< qe { dc( sr trr srd

Bitqs. l qqoq{o*o qfr(r, zooa )

4. q6ilf{6 srrfr qfr 3s t6.fro qrtr+ffif,qliqqq1aaffi" qm+1fs{ntqrii ro s"t
tar t. qt +o ffi" qm + ffid qli { aqt ss ffio tIRI 41 ft{n t qli it 1 3 sQ A-dr t. qRr

4rfunefl {Ir<qf,U*din66+1f<{. ( q{loq{Iofro trr, 2ooo )

s. q+, dqr 6i gIRI Bl ffifl i !F- T<<,116 i (€t T<t.n€ ilm qdqi d + qQ eT il t. qm +1

ffid i<flr t tS $ o1 n-q o'G d YQ s qA dG t. qR qr(r +1 rrFd 2 ffi o,qra t'1, fr ftfi
T<{'ndt t d-s B1 {rt ila +fqS. ( \q"qqofro qfrqr, zooc )

6. qr {E-+, Tfr i q6n *1.rin g sQ 4s ff{e it 30 f6.fro IFI Etflifl t aqr q-drs +, t{€'6 z EIo)

30 fu€ d t5 t6fro rlltl EErtlT t. frc{ crfr t rrs 61 'rft acl Ysr6 61 'Ifd 66 +1tsR.

1(--r')
2l- z)

3xx
44o$e qgqm 3:l

cf{crdr l9B



z. gE afs q1q q6 { s ffi. yfr qo-et 61 qt t t{ vrcr t. qfi f{trfi 6fr +i um +1 t<n {
tr+l m o"ri t st sl {qc E rdr t ssi ftgn vw vt ve qt +i qr<r * ffic qn cli {
eril t. qr{rortr nrddGq.

3. q5qf6 lrE 6p qm},ffiafq€ztf+<an-+zr ffi" dqfrraochqfref{<l il6
sIIi t r o qA A-dr t qR si qI(I +1 f<fl q 7 ffi . <fr rq ori d ro-+ 6 nqq dt fud{r t6,
qRr 61 ffi( fflr d a ffio Efr n-q 6'.G d e'ror t, d qm +r fu aql {Ir< qd { irs 6r fu
nRdfrS.

e. q6 ff{6 T+ i qnr + ffird [i ] *" qri d r r firqz 1s +6!-s til t mr slfrq z f{{e go

d-s!-s t vr{Fq6, r{€ w vfe qq 6. {rrd q-d t rII{6, E,r qre arrl qr{t 6r t r an rfrn-sC,

r0. {ir trmnr< ve d a.s frafio rfo sra 61qrq t t( v+o t. qE qm * fqt< qof{trff Efr
nq 6d d vln qqq, qn +1 t<m t ra-fi 6 qfr <q od d et vrrr :FT 2 glr dr, t qr<r Er fu
nrd dfqS.

1. qmq114q€drrE61fu = 1ffio7qo-4.
trRI q1 R$ t ilq s'r tl : 

1-r + +1 ffioreua.
c{Rr + ffid 11S 6r fu : (x - +y ffioreu-4.

..6*6=z=l*l=!
(x.- 4) (x+4) (x-4) (x+4) 3

. (x+4)+(x-4)
(x2 - l6)

= ! a x2 -16= 6y = x2 -6x-16=O
J

+ x2 - Ex + 2x - 16= 0 = r (x - 8) + 2 (r - 8) = 0 = (, - 8) (x + 2) = O

=r x = 8. [. . q 6,1fu au6s6 rd d e-.rorl
... {r<qd{rrS 6rtr = S ffi./C.n
qm*ffidqiia.nsqq =--q- qe =! sA(8-4) 4

= 1 qo4 36 fqas.
2. qm wq qq ! +nfi qfi q16 : y ffi oTqo-gr nqt qRI r trr : y ffi .rvaa

tr(I 61R{n t tffi or fu : (.x + y) fiE{o^ro-ar.

trm t ffia ftr+ 61 fu : (x -y) ffi.rqu-a.

saJ

2

EFIqIFTT 19BH€uqii*trd

dd21_+_=_...(i)
(x+r) (x- y) 4 -' nel

2d_d't_=/=_=_...(ii)
(x-y) (x- y) 2

loa '-



- d 721
(r,) € (r) g rIFl TGfi q{ 

-+-=-
(x+Y) 2 4

d (21 7\ 7 2d '7

'(x+y) [4 2) 4 (x+yl 2

erse srrq = 
7 qot : : qot :o fu+c.
2

3. q5a wq qq { €lqt fi trl : x f6,,fr./qsa.
qRr +ffid dci r6tfu = (;r -:) ffi"rqo-a.
qRr a1 f<fl t dc{ tFr *q = (r + 3) Fi5fro^Isa.

20 = 5o 
-20(x+3)=50(r-3)(x-3) r+3

+ 30, = (60+150) =210 + x =7 .

V16 qf, i dC{ 6ltrr = Z mo/qo-et.

4. qmq1r<qf,frfu:xffiorqo-atqt qRI iEIfu =yffio6u4
rr1161Rfli ilE EI ir = 6 - yl ffiorera.
qRr + Bctf, rrs 6r fu = 1r -y; ffi oreca

3o*4=lo
(x- y) (x+ y)

:.30a+44b=10
40 a+55 b =13

40 55_+_=IJ...(tr'
(x-y) (r+y)

1 =, ?ql | 
=t.x-y x+y

(D nerT

.(,,,
...(,v)

q-6r

(,,r) 61 4 t dsr (,v) +l a t Yn 6.{}' vzti vt :

(r7 6 b-16s b) =(40-:e1 + t t a = t = a = -]- .

1l

(r,,) d A=! (si c{ 304+4=10+304=6+a=1.

:. r-y=5 ilcll x+/=11.
vd ta qti qr,: 8 wry:3.
.'. qq q {q = 3 ffio/g!-JT, {Tr< q€ ti IFI +1rrfr : A ffi"/qsa

s. qm <tii q-<{qd +d-s d d =,
^ t'x \

rrnr 6t E$rc €Tc{ 6r q€ =l; 
J

(;)-."qRr tffid Rtc{ +1qro =

ffio.ntt,

ffio/tIuCT

30

AIESI

l ttx r\
rrRr6Trrd =rl;_sJ fir-*orqq-gt = ' ;66o7qtg1.

40

... r =2+r=80 ffio.
40

o. qi(I6tffinitils** =*=
({)

t.F.froAo-zt



498 . diFqFkr

=( to* 1 l t*fr"rq'a = r ffiorqo-a.( 15,

trm * frea rrq +1 ere = * = al-l 
ffi .so-a = (, r, 3 ) 

ffi oTqo-gr = 6 ffi o/q!-ur

(z)
fenqrd t are 61,Tfr =lt8+Oi ffioruua = 7 GFfro/q!-a.2'
y-{r6 di rfr = 1 ,t - ul ffi./Elzr - I ffiores-a.2'

Z. qnr qru61fu =rmo/so-zT6eflFtrin E0:yffio.
ERr 41 tfln t qfft S q-6 : 15 1 y; ffio7qo-gr.
trm+ffidqFffdqrd : (5 -r)ffio/qu-er.
t. 

. 

---Y 

.=+=(5+x)=3 (s-.r)(5-x) 5+r

=4x=10+ x=2.5 ffiofqo.a.
3. qHr w< qd i rrq E't fu : r fidorqu-a ?qt qm iFI trr = y ffi.resa.

ilE, trr(I +' iratG nrs 6r Arr : (r + ),) Ed./s!-a.
qm *' ffie :Ir{ or tq : (r - y) F#fi./q!-er.

21 2l -- (x+ y)+(x-yl lo
:------- * -------= lU=#=-=, l0(x--vj)=42 I\x-yt tx+rt (r,_y,) 2l

,7 ,=,3 , -7(.r-y)=f (.r+ v)+4:=lOv+ v=?1.
(.r+ ),) (.r - y) 5

v=- tGH q{'5

{nf, qf, tf aH Er irr = S ffioiquat aq qRI6r fu : 2 fs.+o,qu-g1

*-L *Utmrbffidilq6l,rirt =j tn..
r qutfr qm+ffiilru+1,r{tt =(;,.f 

) 
ffio:+ffi..

qRI*ffidqrd:4ffiorqua.

*h *utrm+1f<vn{rq+1r$<t =J *t".

*? -*)=*,-"e,;' =oz,

=,=(T, )=t 
t+rfr.no-a

, =l.'- rr ) E;fro,qo-ar = z ffiolqua
\5 )

9



1qo2{ qgr 61f<flr d rq q1'ri <fr =l'lre) f6+"^* = offiorqo4

^ r t4 )
r[< qtld ilff.E, i[1 qrd =;(4+6) ffiorqua = s ffi.rqu-a.

qRr q;rfu =],0-al ffiorqua = I f6$o/qozt
2

10. qHr qRI?FI+q-:rffio/q(raiqlq =y fo+".
q1qr ql f({n d +{6 6r fu = (3.5 + r) ffio qfr q!-a].

qnr tfq6-6t{r6 m{r1 =(3.5-r) ffio sfr qu:JL

5

5vv 2
(3.s -x) (3.5+-r) (3.5-x) 2 (3.5+ x)

+ 7 +2x =17 -5-5x +7x = lO.5 + x=1 5-

sfd: qRI i6t +rt = 1.5 ffiorqua.

qftrftfrqfrq{rcir *^ tdq

(Wtuaqtra)

- ARo\€o eftrqrfr

acw

a

qit !


